
CHAPTER 13+ ANSWERS 

GEOMETRY REVIEW 
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== yx   11. 15,52 == yx   12. 22,2 == yx  

 

13. 94.25,75.13 == yx   14. 43.26,55.25 == yx   15. 51.69,28.48 == yx  

 

16. 67.18,30.14 == yx   17. 34.114,43.55 == yx  18. 95.27,06.21 == yx  

 

19. No… reasons may vary 

 

PROBLEM SET 13-2 

1. 25°  2. 215°  3, 315°  4. 4° 

 

5. 140°  6. 150°  7. 55°  8. 180° 

 

9. 1.00, 0.00 10. .85, .53 11. .71, – .71 12. – .87, .50  

 

13.  – .09,  – 1.00 14. .98, – .17      15. – .90, .44 16. .00, 1.00 

 





PROBLEM SET 13-3 
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7. 540°   8. 198°   9. – 120°  

 

10. – 172°    11. 90°   12. 270° 

 

13. III   14. II   15. positive y-axis 

 

16. II   17. negative x-axis 18. III 
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PROBLEM SET 14-1 (Solutions may vary) 
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